ERy A I

Lo wpeags [ (4T pg o el £ 100 & -

2. FAEIEAARMALRICE 0 A LA -

3. 2MERFE AELEEWR o FRA A 2L
4, HEEERE ] pF o

1. A 60-Hz generator is rated 200 MVA, 22 kV, with Xq'=25%. It supplies a load of
100MW, 0.8 power factor lagging at 20 kV. The load is connected directly across the
terminals of the generator. If a three-phase short circuit occurs on the terminals of the
generator, find the subtransient current magnitude in the generator in per unit on a base
of 200 MVA, 20 kV. (20%)

2. A generator is rated 550 MVA, 18 kV, with reactances of Xq =25%, X4 =50%, and
Xq¢=100%. It is operating at load of 440 MW, 0.8 power factor lagging and terminal
voltage 18kV when a symmetrical three-phase fault occurs at the terminal. Find the
magnitudes of subtransient current, transient current and steady-state current in KA in
the generator during fault.  (25%)

3. Two identical generators are paralleled to supply a purely resistive load of 25 MW at
11.4 kV. One of the generator is supplying 15 MW with power factor 0.8 (lag.). Each
generator is rated 20 MVA, 11.4 kV, with Xq4'=20%. If a three-phase short circuit occurs
on the terminals of the load, find the subtransient current magnitude in KA in each
generator. (The line impedances between each generator and load are neglected.) (25%)

4. A generator is rated 500 MVA, 18 kV, with positive, negative and zero sequence
reactances of 20%, 20% and 10%, respectively. It is Y-connected and solidly grounded
and operating at rated voltage at no load. Find the line current magnitudes of each phase
for the line-to-ground (phase-a to ground) fault and line-to-line (phase-b to phase-c)
fault, respectively. (The grounded impedance is neglected.)  (30%)










